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resonant frequency is 4.9458
peak magnitude 13 14.0228
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Bandwidth =10.0396rad/sec
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CP8.9
To satisfy the requirement, we need to tune parameter K, a, b in function:

(s+1)(s+1000)
(s+a)(s+b)

0dB /

1 a b 1000

G(s) =K ,where 1 <a<b<1000

Bode Diagram
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resonant frequency is 31.6483



CP9.3
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Nichols Chart
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System: sys
Gain (dB): -0.00371
| Phase (deg): -78.5
B ..+ Frequency (rad/s): 0.982

Open-Loop Gain {dB}
=

ST S S I e e

g b ) ) :
-360 -315 -270 -225 -180 -135 -90 -45 0

Open-Loop Phase (deg)

Gain margin: The plot reaches —180° at infinite frequency (GM = oo)
Phase margin: PM = 101.5°
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Nichols Chart
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Gain margin: The plot reaches —180° at infinite frequency (GM = oo)
Phase margin: The plot reaches 0dB at infinite frequency (PM = o)
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Gain margin: —20dB
Phase margin: The plot reaches 0dB at infinite frequency (PM = o)



